=
S RE)

= 3/(-2)° + VA + V8i- V2i

—

6 V3 V3
+\/_z+£ i

Vi TvE
— 2424 8- 19—%?i %?i
——2+2-4+2
— 2
Xi]-——’

Ay Zrsf B2},

Vavb = Vab ©|22
VEVT—-¢F5C5::W%1%qzﬂﬁ@wﬂz%q
Tt 2AskoF & 21 BFAA Fol Ak 270
Za<0,b<0d HE AT HLoAT Vavb = Vab7}
Ckias

nMﬂxi—— VP_ V-2 = V2i gt R 2 ALt

H%ﬂgq
ol M= st i @
Ao 0> 0, b <02 WE AT e 2 — V;ﬂ

A7) Wzolct.




2] e A2
O -59 AlFZL +Vbiolth

@ 2+3i% ApRELe 9 3

@ -3ie &olgo

22 3 ol
I,
@)1-2i9) Bel Bass 112000k,

® 5 A% a, bol dste]
ol ofof gk,

Ja

A a+bi7t A7 EEH b =0

@ 1-2i9 B BASFE= 1+ 2i0]th.




3. i(x+20)? o] AgTh ElE A4 x o] g As? (Hi= V-1)

® +1 @12 ® =3 @ x4 ® +5

B

i(x+20)2 =i(x® +4ix—4) = x%i—4x - 4i

= —4x+ (x* —4)i
A5t H A s|4-F7o] 0o|H Hrt.
Cx2—4=0 => x==2




A x, yol tiste], 54 2x+y + (x -

o gre Fohu?

1
®_ﬁ @ 11 37

3y)i =3+2i7h 4HE o,
y

@ -7 (@)—11

B

2x+y=3, x-3y=20|E&

11 1
x:—, g
777

X 11 7




xoll e DAAA (@2 + 3)x+ 1 = aldr+ 1) 9 7} 255 B2
w, o] gHe?

®0  @n ® 2 @ 3 ® 4

(@®>+3-4da)x=a-1
B xol Hish ddstd
a?-4a+3=0,a-1=0

TeTa=1




® V=27 =3+3i
@ 2¢€{x|xe B2}

® a+bi oM a=00]1b=#0o]H s|Fott (T a, b=

a%)

2=-1 - i*=1







3+ 1L

3+9i
10

B

2+ 3i

(2+3i)(3+1)

3—i

_ (3
é3_29ﬁ1)

1

3+ 11
0

1




€ Aokt

(3 + 2i) — (3 - 2i)

9.

4i

.

._“_.u
RO




A (K2 - 3)x+ 1 = —k(2x— 1) o]l TH3}e] 7k 53] o] st
7] 918 k9] RS ki, A7 EAIHA e17] 913 kO] G ky 2 T
_|_

ky ©] %5 F-SFA?

(k+2%-3)x=k-1, (k=1)(k+3)x=k-1
k=19, 0-x=0 (%)

k1:].

k=-39d, 0.x=-4 (%)

Sooko = -3

5ok kg =2




